U=

2H(142)

IHEH D |
BAA=A

] et gt

S2E| 0t

BiLILIR =

Z 2N
BITIHA

OILIBHA
gloA

£dle

del2¢E

z=oim
nene
NIHEDE




2T 28 U |olaet | 2| o9 | sz NEH
@ =0 1,500 | 120 | a1z 180,000 =
22(2)
20 A 1,200 | 18 = 21,600| DOIEEIR
— e 20,000 6 | ax 120,000 | CHZ =D
= e LR 5,400 | 12 2 64,800 | OtEEI2
. LTAE 1,800 | 127 | o 208,600 | ot moImAs
72(3})
e 2800 | 13 oM 36,400 | OtEEI2
—_ gots 1,000 | 127 | m 127,000 =
=T ETEPN 40| 127 | == 57,150 | OtEER=2
TS 1,000 | 127 | om 127,000
92 (=2) O0tE
Jeteae 3,600 18 o 64,800
102(2) | wmaz 32 23,000 | 24 | otz 552,000 | bhcEE=
_— PR 1,800 [ 127 | om 228,600 | melbtHc«
= NS EPN 450 | 127 H 57,150 | OIEEI2
. HEC 65,000 3 | ax 195,000 | CHZ =D
142 (3)
23 5,400 | 12 o 64,800 | OIEEI=2
bel 15,000 [ 10 = 150,000 | ootax
162 (2)
2 2,700 12 | =2x 32,400 olEEI2
oi2tstG ) 1,800 | 127 | m 228,600 | watate )
172 (2) =
HITIC A 2,050 18 | =5 53,100 OtEE=
I S 2 | of et 1,300 [ 127 | om 165,100 | melotc«
= HULS 1,100 127 | om 139,700 otEEI=2
212 (3) il &t 64,000 6 ot 384,000 | ZLAEHIIX
—_— 2AHX 1,500 | 127 | on 190,500 =
ik HITIG A 2,950| 18 | 2= 53,100 | HITZIHA
2= 0f 8,000 12 2t 96,000
232(2) = DIEEIR
Ry (he) 2,500 | 45 o 112,500
S 1,000 127 | on 127,000
242 (2) —— OlEEIS
z st 4,400 | 18 o 79,200
OILIt A 7.000| 43 | == 301,000 | meldHc
272 (") - =
HITI G A 2,950 18 | =2 53,100 orEE2
i 2y 28,000 6 = 168,000 | eiojmm
282 (3t)
enae 2,800 13 | == 36,400 OtEER=2
FECE 1,500 | 127 | o= 190,500 =
292 (%)
epae 2,800 13 | == 36,400 | OlEEI2
RAYLLE 7.200| 12 o 86,400
302(2) OlERte
29 5750 9 | == 51,750
e 1,100 127 | m 139,700
312(2) OlERtS
ol 0] A 3,950 | 18 2t 71,100
Ol &t o 5,070,450




